Conjugaison des premieres yode >9 2

2yeni

2997

Yo7

2y

W NRY , 2WNI

VIR

V07, 207

WY, 2Win

2w

nawnn 2w
nignn  D7RYn

nawm  awm
niaw  0OaYin

1PY R 0N
N12°L°R 020N

VI 2WiIn
DY2Win DY

nawn  awm
niawm 03w

Ramiaia
pAYNT  DIWNT
MWL W7
AWNT DNIWNT

12WN7

ga=ivaly
NI pIwIN
n;zzjm 2WIn

112w
'[I'\'.'N_U"li'l DI'\:IW'II‘{

127

nALI
nap . pAwn
P 2w

122073
103 DN

1303

’D;II_D"'ITI
nawi  pawin
ﬂ;’}?‘lﬂ 2°UIN

Imtvaly
e vanli-i=val

12WI

n3Y>
naw DY
nw? >
N2
1Y oW,
12w

X
agnn awnn
2y nn 2w

2N
MEYhR 12wnn
mawnn  awn

2WIR
2N
2WIN

W

mlik
W
TIWIN
bzl

12T
12

VR
2°0°0 2°0”
03
mRH 110D
mawn 1

PUIX
PUIR Win
2°WIn WY
2w
mIAYIR 12WIR
maAYIn 12w

0K
W awn
WD 2w

2w
MAYR 12Wn
mawn 2wy

WD 2Wna

P i = Al ol

IR

R0 B lehy

mawT  IR°]

U 2w

73V 1270

[




